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QUESTION 1

In a decision strategy, in order to select the proposition with the highest propensity, you use a
A. Priorities component, and sort propensity from highest to lowest

B. Priorities component, and sort propensity from lowest to highest

C. Switch component, and sort propensity from lowest to highest

D. Switch component, and sort propensity from highest to lowest

Correct Answer: A

QUESTION 2

What are two results of an Adaptive Model? (Choose Two)
A. Priority

B. Propensity

C. Segment

D. Performance

Correct Answer: BD

QUESTION 3

A company wants to simulate decisions that requires large amounts of data. However, the organisation\\'s live data is
inaccessible. Your advice is to use a Monte Carlo data set.

The Monte Carlo method

A. enables the company to generate random data for most of its application needs
B. generates data that the company can use as input for adaptive decisioning

C. combines external data sets into a larger data set

D. makes the organisation\\'s live data accessible

Correct Answer: A

QUESTION 4

When a new component is added to the strategy canvas, its Rank value will be
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A. One higher than the current highest Rank
B.0

C. Not set

D.1

Correct Answer: D

Reference: https://pegasystems2.https.internapcdn.net/pegasystems2/marketing/C-762- StudentGuide.pdf

QUESTION 5

Many companies already use third-part predictive models and want to reuse these assets in the Pega Decision
Management tandscape.

Which decision component allows you to use a third-party Credit Risk Model 80% of the time and a Pega Credit Risk
Model 20%?

A. Switch

B. Adaptive Model

C. Filter

D. Champion Challenger

Correct Answer: B
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